
NSN 2530-01-312-1924
Disc Brake Caliper Parts Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/2530-01-312-1924

Furnished Items:

4 washer,  7/16 hel. Spring lock-hvy; 1 pin,  clevis 3/8 ?X1.06 lg; 1 nut, 1/4-20 hx w/ ext-tooth lw; 1 installation instructions,  auxiliary; 2

gaskets-exhaust; 2 washer, flat, copper; 1 conical wsh plastic; 4 pin-brake caliper; 4 pads; 1caliper housing lh-rear; 1 caliper housing-lh rear;

1 clamp asy; 1 clamp assembly muffler, 3 inch full cir; 1 cable asm park brk rr lh; 1 cable asm park brk rr rh; 3 washer,  1/4 type a flat-narr; 4

1/4 flat washer type b hardened zinc; 1 washer,  3/8 type b flt- hrdnd narr; 4 bolt,  1/4-20 x .625 hhc; 2 bolt,  1/4-20 x 4.50 hhc; 1 bar, cable

eqlr, park brk; 1bracket,  parking brake,  cable mounting; 1 bracket asm, cable mtg-rh; 1 bracket asm, cable mtg-lh; 2 10-32 x .625 hwh sts

gx/ga dt; 4 nut,  1/4-20 2b all met lock; 1 nut,  1/4-20 2b all met lock; 1 nut 5/16-24 unf2b all met lock; 10 nut,  3/8-16 2b all met lock; 4 ring,

.50x.042t ext. Retaining-e; 7 clamp,  .62?X.62w cshnd-.281? Hol; 3 cotter pins; 2 lock washer; 1 5/16 hex nut grade 8; 1 1/4-20 x .75 hhcs gr

8 dt; 1 rod parking brake

Component Quantity:

81

Component Document Origin:

Industrial

Document Source:

34623

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A562f0

https://aerobasegroup.com

